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***** 
IMPORTANT NOT
E
 FOR OUTCROP 5
 
*****
The 
wavy
 line
s represent
 
two different 
unconformit
ies
.
Erosion removed rock layers from th
ese two
 location
s
.
There used to be rock layers there, but they were eroded away, and later buried by other rock layers.
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***** 
IMPORTANT NOT
E FOR OUTCROP 6
 *****
The 
wavy
 line represents an 
unconformity
.
Erosion removed rock layers from this location.
There used to be rock layers there, but they were eroded away, and later buried by other rock layers.
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